
Page 1 of 5 RM470209 Rev 2 

Air or Hand Ratchet 

7/16” Combo Wrench 

Torque Wrench 

7/16” Socket 

 

 

 

 

 

INSTALLATION INFORMATION 

Recommended Tools 

Hardware 

1/4-20 x 3/4 

Hex Head Screw 

1/4-20 

E-Stop Nut

TRIPLE UTILITY HOOK 

P/N: 025527KP 

P/N: 0SS119KP 

}  P/N: 025527KP 

1/4-20 x 2 

Hex Head Screw 

0SS011P 

CHANNEL NUT 
}  P/N: 0SS119KP 



Page 2 of 5 RM470209 Rev 2 

TORQUE SETTING: 

Size – 1/4 = 7 – 9.5 Ft.-Lbs. 

Position Triple Hook at the desired location, 

 and secure to Upright using: 

(2) 1/4-20 x 3/4 Hex Head Screws 

(2) 1/4-20 E-Stop Nuts 

ATTACHING TO STANDARD MODULES 
ATTACHING TO SMARTSPACE MODULES 

Position Triple Hook at the desired location, 

 and secure to Upright using: 

(2) 1/4-20  x  2 Hex Head Screws 

(2) Channel Nut 

ATTACHING TRIPLE HOOK TO SHELVING MODULES 



Page 3 of 5 RM470209 Rev 2 

ATTACHING TRIPLE HOOK TO PARTITIONS and OTHER SURFACES 

ATTACHING TO OTHER SURFACES 

Position Triple Hook at the desired location, 

 and secure to Upright using: 

(2) 1/4-20 x 3/4 Hex Head Screws 

(2) 1/4-20 PlusNuts (See Page 4 of 5) 

ATTACHING TO PARTITIONS 

Position Triple Hook at the desired location, 

 and secure to Upright using: 

(2) 1/4-20 x 3/4 Hex Head Screws 

(2) 1/4-20 E-Stop Nuts 

Installed PlusNuts 



Page 4 of 5 RM470209 Rev 2 

PLUSNUT INFO 



3 Year / 36,000 Mile Limited Warranty 

(3) years or 36,000 miles (60,000 KM)


	Warranty Page.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7




